ITEREAA QR UV

[KER#HRX] SHTEAS (RHTETRIBRAE)
T B X A A A 1t T
5 3 it

WLDF1TH 147 161 308 145
lnF2TH 250 286 536 231
W W1TH 92 124 216 115
W WW2TH 521 508 1,029 459
st ET1TH 255 296 551 249
st BT2TH 189 164 353 160
MEET1TH 154 157 311 154
HEET2TH 249 250 499 228
MEET3TH 321 322 643 254
fh =1TH 165 214 379 174
o R2TH 167 209 376 194
FEET1TH 206 271 477 247
FEE2TH 196 217 413 169
£ E1TH 365 392 757 359
£ X2TH 171 193 364 182
£ IX3TH 306 294 600 249
£ X4TH 226 219 445 206
A HE1TH 612 631 1,243 560
A HET2TH 297 314 611 251
X IL1TH 317 298 615 301
X L2TH 345 322 667 330
X IL3TH 402 429 831 398
£ [FE1TH 636 749 1,385 613
£ [F2TH 806 766 1,572 666
%X JE3TH 869 897 1,766 719
% &T1TH 325 313 638 275
x &F2TH 811 793 1,604 658
% &STH 971 985 1,956 833
x F4TH 167 167 334 144
% &S5TH 63 64 127 40
= W H 511 499 1,010 426
EXR1TH 711 655 1,366 599
ELXTR2TH 163 166 329 119
= E1TH 579 606 1,185 558
= H2TH 273 241 514 281
m B E 1,526 1,511 3,037 1,179
1N Hi 14,364 14,683 29,047 12,725




[£HEMX]

T B X Al A T
F B E 1,666 1,667 3,333 1,398
T = 94 96 190 65
pid H 104 104 208 63

fit] 30 28 58 20
5 R 178 173 351 137
F % R 103 93 196 67
= pu 305 306 611 190
m 2 iR 499 494 993 348
f& =i 174 199 373 139
bp | 270 280 550 202
Z & R 172 144 316 112
N & 648 605 1,253 474
i € A 518 540 1,058 460
e A 503 488 991 366
+t B R 357 345 702 305
£} iR 233 218 451 146
i I 242 250 492 160
B =} 237 236 473 146
7R g 15 14 29 11

d X#MA 133 159 292 166
1N Hi 6,481 6,439 12,920 4,975

[FEHX]

T B X A A T
3] 585 594 1,179 437
= i) 690 754 1,444 602
8 iR 120 123 243 82
& fit] 121 117 238 73
1€ 241 225 466 150
F A 408 450 858 271
¥ ¥ H 137 150 287 99
N 5 2,302 2,413 4,715 1,714




[EF iR X ]

T & X Al A Gl
+t 75 E 438 460 898 369
T A E 650 654 1,304 590
= = 1,527 1,461 2,988 1,202
I iR 78 67 145 39

¥ B\1TH 117 131 248 103

¥ B2TH 235 245 480 199
7 =t 3,045 3,018 6,063 2,502

[MEAILHX]

T B X Al A T
£ A W 587 641 1,228 456
e iR 119 120 239 73
X i 160 139 299 111
1= [R 314 291 605 239
/N it 1,180 1,191 2,371 872

[ FHX]

T B X A A G
TRIR 220 218 438 142
INIRE 83 71 154 61
SEE 534 543 1,077 399
ERL 449 417 866 304
B K 280 275 555 201
% [ 393 396 789 258
IR 50 43 93 35
FFFH 122 123 245 90

I\ B 2,131 2,086 4,217 1,490




[BFHX]

T & X Al A Gl

2T AT 316 332 648 247
B HE 408 374 782 300
gz N 173 164 337 133
L5 E 328 306 634 253
I\IE 139 158 297 126
itiE 149 153 302 96
AH 147 170 317 106
-3/8 174 137 311 108
xE 30 22 52 19

I st 1,864 1,816 3,680 1,388

[P X ]

T B X A A o
2 PR T 662 693 1,355 509
XEH 274 295 569 226

R 165 174 339 118
el 226 218 444 155

BARR 302 308 610 202
E£H 619 522 1,141 461

I =t 2,248 2,210 4,458 1,671

[ Rt X ]

T B X H A T
FEF A 238 248 486 159

AR 180 184 364 124
g i) 94 102 196 65
F1E 55 55 110 38
ANEE 57 55 112 37
RAR 64 58 122 44
AEFX 85 155 240 121
Kb 140 140 280 99
JIIA 70 74 144 64
I B 983 1,071 2,054 751




[ZEE)II#X]
T B X Al A T
5 = B
AfEX 262 274 536 209
AEN 311 316 627 260
EEF 62 62 124 49
Nk 18 17 35 20
MmA 87 74 161 63
/N B 740 743 1,483 601
= at
A #
5 g’e 5
35,338 35,670 71,008 28,689




